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Solve the following equations: Round 9oludions 4 +the '\-e_n\—\a_g ?I&QG

AL 3=l

Z B =4

3. ¢ =5

4, —=14 $3e* =11

5 —=H4+ndx=9

6. lop(3x +1) =2

7. lnx =ind=4

8 2n3x=4

¥ 55" =4

10.{x +2) =6
WA = 0.25
VW2t =Get =3 =0
13.log; 3 + logy x = log, 32
14 2loge 4x =0

15.00g, x +log,(x = 3) = 2

16, log,(x o 5) —log,(x —2) =3

17.4Q2x +3) = 11

2
18.Jop x —log 6 = Zlog 4

A
5 =25
%. 4,.\'-3 - L

16

223777 =81

23. logx =5
24.lopax =3

25.1og, 2x = top, 100
26.In(x + 1) =1In7
27.logs(2x + 1) =2
28.log(x —10) =2
2%.3% = 500

.87 = 1000
31.Inx'= 7,25

2. Inx = —0b

33. 2% = 45

34, 1000799 = 20
3517201 - 4%) = 18
36.25(1 =e') =12
37.log2x = 1.5
38.log, 2x = —0.65
39,%1032 X+ He=7
40. dlogs(x + 1) = 1.8
41.1og, x + log, 3 =3

VL 2 log, x —log,(x ~1) =1



